ltem

Written Notices to Examinee of Polygraph Testing—Ongoing Investigations, Security Services, Drug Invest Notice to Examinee--Ongoing Investigations of Employer's Economic Loss or Injury Written Notice to Polygraph Examiner Identifying Persons to be Examined under EPPA—Maintenance of I Provided by Polygraph Examiner.

Written Notice of Test Results Prior to Adverse Employment Action

Test Results Written Report and Test Record Maintenance--Employer

Total

Written Report of Test Results and Maintenance of Test Record—Polygraph Examiner

Totals

١

The numbers of respondents listed is duplicated in some of the other ICs for calculation purposes. The tota

Respondents*	Response	Total Responses	Time Burden (Minutes)
82,000	2	164,000	1
42,500	2	85,000	30
82,000	2	164,000	6
8,200	2	16,400	
82,000	2	164,000	1
296,700		593,400	
3,200		164,000	1.50
299,900		757,400	

of respondents are 82,000 employers and 3,200 polygraph examiners, for a total of 85,200 t

Burden Hours		
2,733	}	
42,500		
16,400)	
273	3	
2,733	}	
64,640)	
4,100)	
68,740)	

otal respondents

ltem

Written Notices to Examinee of Polygraph Testing—Ongoing Investigations, Security Services, Drug Invest Notice to Examinee--Ongoing Investigations of Employer's Economic Loss or Injury

Written Notice to Polygraph Examiner Identifying Persons to be Examined under EPPA—Maintenance of Records Provided by Polygraph Examiner.

Written Notice of Test Results Prior to Adverse Employment Action

Test Results Written Report and Test Record Maintenance--Employer

Total

Written Report of Test Results and Maintenance of Test Record—Polygraph Examiner

Totals

Wage Rate I	Benefits	Overhead	Total Wage Rate	Rounded	Burden Hours
\$28.62	\$12.88	\$4.87	\$46.36	\$46.37	2,733
\$28.62	\$12.88	\$4.87	\$46.36	\$46.37	42,500
\$28.62	\$12.88	\$4.87	\$46.36	\$46.37	16,400
\$28.62	\$12.88	\$4.87	\$46.36	\$46.37	273
\$28.62	\$12.88	\$4.87	\$46.36	\$46.37	2,733
					64,639.7
\$41.48	\$18.67	\$7.05	\$67.20	\$67.20	4,100

Rounded	Cost	
2,733	\$126,729.21	
42,500	\$1,970,725.00	
16,400	\$760,468.00	
273	\$12,659.01	
2,733	\$126,729.21	
64,639.0	\$2,997,310.43	
4,100	\$275,520.00	
	\$3,272,830	